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HR3—2 BEMICERT HLBESHHEEIBITHEEA/1) ) ) _ AEEE | FHo9nE
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ﬁg TREOBEBOTILEHOKRES TERFEOHBEILNOKRES TEFEOBRBDOEILHDOKRES TREOHBSSLADKRES
7 100kN/m%z#Z5| 100|000 ~ 213 13300 |3m&EEZE| — ~ — — — | 100kN/m%E#z25 | 1.00 | 11.31 ~ 2403| 133.00 |3mEEZ5 - ~ — — —
st 1.00 | 213 ~ 991 100.00 | #nLst | 0.00 ~ 9.91 | 2.50 12.62 ThLst 1.00 | 5.00 ~ 1131 100.00 | =nLst | 6,00 ~ 2403| 2.60 12.62
2 100kN/m% %% | 1.00 | 000 ~ 302| 14811 |3m&F8z%| 000 ~ 0.15| 3.08 1557 | 100kN/mi%#825 | 1.00 | 1054 ~ 2622 14811 |3m&E#BZ5B| 2500 ~ 2622| 3.08 156.57
ZhLst 1.00 | 502 ~ 1081 100.00 | #hst | 015 ~ 1081 3.00 15.16 FnLsn 1.00 | 5.00 ~ 1054 100.00 | 0S| 6.00 ~ 2500\ 3.00 15.16
3 100kN/m%#8%% | 1.00 | 000 ~ 320| 15116 |3mE{BZ%| 000 ~ 083| 3.62 17.78 | 100kN/m%#82% | 1.00 | 11.62 ~ 3000 151.16 |3m&E#Bz2%| 2000 ~ 30.00| 3.52 17.78
st 1.00 | 320 ~ 1099 100.00 | =nLst | 0.85 ~ 1099 3.00 15.16 ThList 1.00 | 6.00 ~ 1162 100.00 | =nLst | 6,00 ~ 2000\ 3.00 15.16
4 100kN/m%#BZ% | 1.00 | 000 ~ 342 1565.03 |3m&EBZ%| 000 ~ 0.78| 3.48 17.57 | 100kN/m#%i#8z25 | 1.00 | 1140 ~ 3257 1656.03 |3mZE#BZB| 2500 ~ 3257| 3.48 17.67
st 1.00 | 342 ~ 1121 100.00 | #nLst | 0.78 ~ 1121 3.00 156.16 ThLst 1.00 | 5.00 ~ 1140 100.00 | =nLst | 6,00 ~ 2500\ 3.00 15.16
5 100kN/m%#8z5 | 1.00 | 000 ~ 286 14524 |3mZz#Z3| — ~ — — — | 100kN/MZ#82% | 1.00 | 1081 ~ 2400| 14524 |3mEHBZ3 - ~ — — —
st 1.00 | 286 ~ 1064 100.00 | #nLst | 0.00 ~ 1064 2.86 14.46 st 1.00 | 5.00 ~ 1081 100.00 | =nLst | 6,00 ~ 2400 2.86 14.46
P 100kN/mM%E#BZ 5 — - ~ — —|3mEB2B| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
zhLst 1.00 | 000 ~ 486 60.61 | st | 000 ~ 000\ 1.57 7.91 Fnst 1.00 | 6.00 ~ b5.51 60.61 | 0S| .00 ~ 5561 1.57 7.91
100kN/mM%E#BZ % ~ ImERBAD ~ 100kN/ m#%#8% % ~ ImEHEAD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E# 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/mM%EZ 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% 25 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
ThLlst ~ TnLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD . 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEAD ~
zhsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




